
 

                   
Detailed Answer 

  Scale 
 Marks 

Subject n°1 
 
Part One: Reading 
 A/Comprehension:                                                                                                                                     

1) -Choosing the right answer that complete each sentence: 
a) Nowadays, people consume more and more products because of the amount of articles exposed in 

the markets. 
b) Some products that people buy are unnecessary for their existence. 
c) People purchase some articles only because they are affordable in the markets. 

2) -Put the following statements in the order they appear in the text: 
                   1)- c             2)- d                  3)- a               4)- b 

 
3) -Answering questions: 

a) Some purchased goods are very important in people’s life because they contribute in their biological 
survival like food and medicines or because they play an important part in protecting their mental 
balance like music and books. 

b) No, they aren’t. Justification: We find numerous elements which we feel obliged to acquire although 
they do not have any determinant role in our existence. 

c) People are incapable of living without some nonessential items because they will be exposed to 
severe criticism from their fellows who will think that they no longer belong to modernity and 
civilization. 

      
4) -Cohesive markers: 

  a)- these §1: items                                           b) -they§2: elements 
  c)- It §3: life                                                       d)- their §3: these items  

     
      5)   -The appropriate title is: 
               b)  Consumption in Modern Society  

 
  B/Text Exploration: 
       
     1) -Opposites: 

a)-insignificant ≠ essential /important                 b)-ancient ≠ modern                                       c)-finally ≠ 
initially                                                    d)-capable ≠ unable 
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 2)  - Chart completion: 
         

          verb      noun       adjective 

To access access / accessibility accessible 

To integrate Integration / 
integrationist 

Integrated / integrational 

To criticise criticism Critical / criticisable 

   
3) -Completing sentences: 

        1-Both Internet adverts and TV adverts should be banned. 
        2-Great profits have been made by food companies because of the new methods of advertising. 
        3-The journalist said:” Consumers buy articles even though they don’t need them.” 
         
 
  4)   -Asking questions: 
             a) What do people purchase in the markets?    
             b) How much did he buy his phone months ago?                                                                          
    

4) -Sentence ordering: 
1)- c          2)- a          3)- e          4)-  b            5)- d 

    
5) -Words classification final “ed” 

/t/  produced 
        /d/  filled   -   encouraged 
       /id/  added 

 
 
  Part Two: Written Expression: 
   

Criteria relevance Semantic 
coherence 

Correct use 
of English 

Excellence 
(vocabulary 
and 
creativity) 

Final score 

      1pt    1pt    2pts    1pt    5pts 
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اني 
َّ
 الموضوع الث

A/Compréhension : 08 pts 

   1) The text is : a web article 0.5 pts 

    2) a- f               b- T                c- f               d- f  .2pts   

    3) a- Yes they do. 

        b- To be able to live on the moon, explores should build their over habitat home. 

        c- The as/ fonauts/ explorers/explorers the mselves. 2 pts 

    4) a- It (§04)             Moon habitat lhome.   b- They (§05)             The materials 

         c- It (§04)            The habitat                  d- They (§05) explorers. 

b/ Text exploration : (07 pts) 

     1) a- Exploration                     b- Atmosphere. 

      2) 1.5 pts 
 

Prefix Root Suffix 

Dis appear ance 

under go / 

/ exist ence 

     3) 1.5 ptd 

         a- He assked why they had to spend money on space exploration. 

         b- Evidence of water has recently been discovered by Apollo astronauts. 

         d- I wish I could set foot on the moon, someday. 

     4) 1.5 pts 

         a- Space research is both a cultural and industrial impirative. 

         b- The earth has eruptive volcanoes while the moon has inactive. 

         c- Space research is such a very important issue that scientists spent top dollars on it 

     5) 01 pts                    

/s/ /z/ /iz/ 

-Rockets 

-astronauts 
moons practices 

  

       6) a- defined 0.25 pts         c- astronomical 0.25 pts         c- moon 0.25 pts          d- satellite 0.25 pts 

   Part two : Writing (05 pts) 
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